i

ol
mmo
o
il

o|J
BH

3

W Gy
sn N
o { 7om
o R
X T "
NI O_L J&
oom X
M W o)
T 7 P
(R
IR TS




2.y xol WIS x = 6 A oy = 1Y y =3 Y 1], x I
He T2,

@ 42 @ 33 ® 10 @22 ® 45

dhl ] TAL xxy 9] gro] dAsIEE
6x11=x%x3
x=22




o2 A-SHA 9] BEol= 1944 cm? YUYt A-SHA 2] g A2 <]
Zdol= 2 emPY7k?

@ 20cm @ 19cm @18(:111 @ 17cm ® 16cm

~&B

(zaoumH Ayo]) = (
1944 = (g A2 Ho]) x6
(3 M2 Wol)= 1944 + 6 = 324( cm?)
BEHA Y] 6709 A FFN AAAPo|nE
AewA o) g =29l o1& [ |em 2} 54

[ Ix[ ]=324,[ ]=18(cm)

gk "o Hol) x6




Watel Fat o] F2& T3-S o]gsto] Fuch
[]x45:35x05

17 10 17
[ F17+45= =X =T




5.

VAl

22 ol Z1QIZ] A ZA|Q,

fo

ohe % Hlgo] 24 2

@O AA2] Zo)7} 10em ¢l W2 oA 4em 2 LrEPA Y T
AA| Z4o]7} 30em Q) W I LA 1.2 cm 2 VFERHELU T},
@ daHzolA FHZE] 2717} 144° Y Th

@ 29] 50| thet Hje} 5t

® 129 30 th3t vt ZEUTh,

°9




Ag@AE dol 67 &tk AL A5 o, W
N4 alebs @ o, AR A5t wel A4 BALZ o,
2 ST A0 Ukl AL BE 1240,

D o=a+6 @ Ar=0+6 ® o=ax6

(@)A:DX6 @D:A+6

B

AEHA = Hol 6 7 loem =2 g Aofl=

A A}E7t 6 W, T 7ol 12 7N, 3 AHoll=

18 7H¢] Hol AF Y.

wrebA (A 7R =(HSHA 2] 7H)x6 YU

A=OX6EEDOD=A+6




2 7)
4-0. 1- 2-1—]+06
5 0.75 x 5—!—(3 0

(@)6.85 @ 6% ® 4.18 @ 4.08

B

1
4—
@ 20

2 7)
4-0. = 2-1—]+0.
5.4 075><15+<32 10 0.6

=54-075x14+ (32-17)=0.6
—54-1.054+15+0.6
—54-1.0542.5=6.85




